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OLLI VIRTAPERKO

DEN STORA TRADGARDEN

"THE GREAT GARDEN"

FOR SYMPHONY ORCHESTRA AND LARGE MIXED CHOIR

TEXT EDITH SODERGRAN (1892-1923)
FROM POEM DEN STORA TRADGARDEN (1920)

OM JAG HADE EN STOR TRADGARD

SKULLE JAG BJUDA ALLA MINA SYSKON DIT.

VAR OCH EN SKULLE TAGA MED SIG EN STOR SKATT.

DA VI ICKE HAVA NAGOT HEMLAND KUNDE VI BLI ETT FOLK.

UR VAR TYSTA TRADGARD
SKOLA VI GIVA VARLDEN ETT NYTT LIV.

H SODERGRAN

NGS THERE.
NG A GREAT TREASURE,

rHE WORLD.

NA ROSSI)

VE COULD FORM A SINGLE NATION.



INSTRUMENTATION:

3 FLUTES (3RD DOUBLING PICCOLO)

2 OBOES

COR INGLESE (IN F)

2 CLARINETS (IN Bb)
BASS CLARINET (IN Bb)
2 BASSOONS

DOUBLE BASSOON

4 HORNS (IN F)

3 TRUMPETS (IN C)
3 TROMBONES
TUBA

TIMPANI

3 PERCUSSION (AS SPECIFIED BELOW)

HARP
CELESTA

LARGE MIXED CHOIR (SATB)

STRINGS

PECUSSION 1:
MARIMBA
XYLOPHONE
TUBULAR BELLS

1®

CROTALES (D,G,C)

NS

PERCUSSION 2:
VIBRAPHONE
4 ToMm ToOMS

2 DIFFERENT SIZED TRIANGLES

ON THE 12TH OoF DECEMBER 2004 IN THE VREDENBURG MUSsIC
RADIO SYMPHONY ORCHESTRA AND KOOR NIEUWE MUZIEK.



DEN STORA TRADGARDEN

"THE GREAT GARDEN"; TEXT BY EDITH SODERGRAN

TRANSPOSED SCORE
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